AR A IR E R EER (FR28F2A1H~2ASHHAE)

158 = = = W5t #E=E (1 Sv/h) s | BREERR
NO | HHES REEMA Tom 0o o Kigig & Py
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9] B—6 [THHALESE 0.12 0.11 0.11 BEh O
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19 C—3 [|$%/Ar=&Hih AOfHE 0.11 0.11 0.12]# mzﬁ E 12cm) O
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71 D—7 |Yv<IAIFEHTE )R 0.10 0.11 0.12 BEh
72l D—8 |FEIIFEHIR) 0.12 0.11 0.11|8&h GEE10cm)
73 E—2 |WFEME 0.11 0.11 0.12| 8 (FEF22cm)
74| E—2 |EZFHEFBK 0.08 0.08 0.08] E&H (FEF42cm)
75| E—3 |BR/EDihigE 0.22 0.21 0.19| B (FEE 18cm)
76| E—4 |[BEAREEH 0.09 0.09 0.07| K& (FEE3cm) @)
77 E—4 IHEX /RN REEH] 0.12 0.12 0.11 Eh O
78 E—5 |FRRALfHE 0.09 0.09 0.10| B+ (FEF20cm)
79 E—5 |8k 0.12 0.11 0.10[ B GEE 17cm)
80] E—6 [—/Xi#A 0.10 0.12 0.12 BEh
81 E—6 | EEFER=FERMm A 0.12 0.13 0.12 Bh @)
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105 G—6 | XEBHEEEHR 0.09 0.10 0.08 BEh O
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112 1—4 BFaRIZUYARTILAOMA - 0.05 0.05] B& L (FEE70cm)
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115 1—4 A ELERRH S AR R A5 m CKE S ) - 0.05 0.04B& . (8 E60cm)
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